TiEws

o8N AR Bk B
Fi5 R (34
FBX / R EE BB/ BBk
2 [ =2 201 =) PB4
2 1.86
1.3 4.75 7.95 1.5 +1.5
L S E T £t 3 E LS 2R
1.96 1.9
1.65 3.4 4.85 -0.5/-1 +0.5/+1
BT mHRRRIR B8T AR
1.8 2.06
2.3 3.25 2.75 0 0
e KittE HE+ L86 ) KittE
1.25 5 9.5 -1.5 ' +1.5
gl BEE Ehl i o 3
1.9 1.96
1.6 3.35 55 -0.5/-1 +0.5/+1
FlniE pi: 3] FiE BIEA
1.8 2.06
1.75 3.35 4.25 0.5 +0.5
F4SE EHE SR EHrR
1.86 2
2.4 3.25 2.62 0 0
{HBREs i {aBRER S
1.9 1.96
25 3.22 2.53 0 0
{RIE a4 {RiA Bl
1.8 2.06
5.7 35 1.55 +1 1
$TLCER =R $TLLER =R’
2 1.86
2.65 3.2 2.4 0 0
ACKES P 4%RE A ACKEE [TEST PN
1.98 1.88
1.5 35 6.4 1 +1
EaRBH BRXE EaRHR BHRXE
1.8 2.06
2.35 3.1 2.78 0 0
hiE EEIBE KBS hiZ BRI K BA
1.82 2.04
2.85 3.2 2.25 0/+0.5 0/-0.5
EWE BHE ERE B#HE
1.9 1.96
2.1 3.1 3.23 0/-0.5 0/+0.5
EiEHR HERES 1HEEHR S
2 1.86
1.5 35 6.4 1 +1
] BEH EAETE BEH
1.86 2
1.8 3.2 4.15 0.5 +0.5
RHEE #E5 RFTEE #5
2.1 1.76
5.65 35 1.55 +0.5/+1 -0.5/-1
kBT HEE KiBf2Es ) L86 e
2.2 3.1 3.02 0/-0.5 ' 0/+0.5
BiKE HZ D BiRE HSHE
2.06 1.8
2.78 3.1 2.35 0 0




FIFRMW SHHB4R FlARI S5 HB 4
1.96 1.9
2.15 3.1 3.12 0/-0.5 0/+0.5
hifERm T hiflERE T
2.06 1.8
1.55 3.4 5.9 1 +1
ma= BEihEs = BEpERE
1.96 1.9
1.9 3.1 3.85 05 +0.5
EHrEW Si8E BHIEWN X La6 SRiBEE
1.95 3.1 3.67 0.5 ' +0.5
HER £HEa HER 2Ha
1.86 2
2.4 3.05 2.75 0 0
By BEESE [=RL:0 BEEE
1.9 1.96
3.75 3.17 1.9 +0.5 05
E{RHfgan Bk H{m X La6 -5 3
2.2 2.95 3.18 0/-0.5 ' 0/+0.5
i E vkl )a] EEEREsT R Lo6 L BERREEE
2.15 3.15 3.07 0/-0.5 ' ' 0/+0.5
EHRIES PERIXIE BHRIES 206 s R X iE
2.3 2.98 2.96 0/-0.5 ' ' 0/+0.5
L EFITE FIES L EFITE FIE4
1.96 1.9
1.5 3.4 6.8 1 +1
EXEER 453 EXBER [iiiicq::
1.96 1.9
1.65 3.35 4.9 -0.5/-1 +0.5/+1
ZEHER AEBREE EHER 206 L R KHRE
2.77 3.2 2.3 0 ' ' 0
EE e EEE b3t , 86 e EEE
1.3 4.7 7.9 1.5 ' +1.5
FIELE ZERE FIFELE L6 Lo ERRE
1.65 3.45 4.7 -0.5/-1 ' ' +0.5/+1
BimE B -ERE HiRE H-BERE
1.8 2.06
5.2 3.7 1.55 +1 1
EETKE HRHFE EETKIE L86 " tHEARE
1.25 55 7.9 1.5 ' +1.5
K= Z5 pi-E23 EA L
1.93 1.93
2.5 3.25 25 0 0
RHEE PEREN RHEC 206 L PEREN
2.6 3.35 2.35 0 ' ' 0
ERE SBEFN EEE L 2L53)
2 1.86
2.5 3.33 2.45 0 0
B R =1 {4 ke ESLET - Ia1btask
1.93 1.93
2.5 3.25 25 0 0




F S HR &5 FU3zHr €5
2 1.82
1.7 3.2 4.8 -0.5/-1 +0.5/+1
Viid:: e BES [53F )
1.86 1.96
1.8 3.13 4.25 -0.5 +0.5
R BElEk HEHR BEi
1.84 1.98
2.4 2.85 2.92 0 0
EE4NES ) EEthES &g}
1.96 1.86
2.15 2.88 3.35 0/-0.5 0/+0.5
BERY BE BERYS BE
1.92 1.9
2.65 2.87 2.6 0 0
Eil]z: ERER I BrEFB
2 1.82
1.95 2.88 4 -0.5 +0.5
B = = =
1.86 1.96
2.4 2.88 2.88 0 0
E{mmg 2 B85 B {mE B B8
1.97 1.85
5.95 3.15 1.6 +0.5/+1 -0.5/-1
=EHF F= Rl E S SEHR TS
2.07 1.75
2.72 3.2 2.3 0 0
ffE PELF B PEFI
1.9 1.92
1.85 3.25 3.75 -0.5 +0.5
KEE Bith KRE Hith
1.85 1.97
1.8 3.25 3.95 -0.5 +0.5
R EEF {RI5 EES
1.8 2.02
2.35 3.2 2.65 0 0
EEHE HIEHT EEHE $5IER
1.97 1.85
2.2 3.22 2.85 0/-0.5 0/+0.5
RE R I {ER1A Rk (ERitA
1.9 1.92
2.1 3.2 3.05 0/-0.5 0/+0.5
EHA IRBX A IREX
2.07 1.75
2 3.2 3.3 -0.5 +0.5
HA= -3 ZRA= P
1.77 2.05
2.78 3.2 2.25 0/+0.5 0/-0.5
i 1l SELTIT L | BELIT
2.07 1.75
1.53 3.5 5.7 -1 +1
ZEHRAS I HeEY 2 HRSI SR
1.95 1.87
1.9 3.2 3.6 -0.5 +0.5
mEHEE aiia 1 B HTIE I AalEiA
1.9 1.92
1.85 3.2 3.8 -0.5 +0.5
Ediia EBLHiRiR = o3 137 BTHiRR
1.9 1.92
1.85 3.2 3.8 -0.5 +0.5




